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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

1. Answer any ten questions:

their own words as far as practicable.

2x10=20

R wiib 2o Tex ws ¢

a)

b)

Distinguish between 'data’ and 'information'.
O 4R ToATeT W ALF RIS |

What do you mean by maintenance of
capital?

YR WA IO QRN

What do you mean by conservatism concept?
ROl QIR @S @R

State two limitations of historical cost
accounting.

Historical cosf, accounting-43 o Hrnae!
TSrE |

Is Trial Balance an Account?

@eufE F @FH s
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What is basic accounting equation?

APRES AR AP 2
What is entity concept?
e e gl e
Define Del Credere Commission.
e wER I A2

What is 'Goodwill'?

AN 2

Distinguish between Gross profit and Net
profit.

eS8 5 ACed W AL orve |
What is compensating error?

TR RANLE ©F 2

What do you mean by 'Sacrificing Ratio'?
ofisigse e

What do you mean by 'Average Clause'?
FTLIA IS (@2

Distinguish between capital expenditure and
capitalised expenditure.

TGO IT6 9R LA FAMSAC ABA W
A oy e '

What are the principal advantages of self-
balancing system?

A *afel A ARafe {2
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2. Answer any five questions:

6x5=30

- #ipls 2esz Tex we ¢

a) i) What is meant by Accounting Cycle?
2w b e & @Rie
ii) What do you mean by fair value
accounting? 3+3=6
G TY WEE N ee & QR
b) What are the advantages and disadvantages of
accounting from incomplete records?
3+3=6
s Ff (e B femsReE ka8
spffafe & 62
c) What is meant by unusual selling price and
' price reduction? 3+3=6
wEblers RETPEn @R o g IS & @R
d) The Trial Balance of a Motor Repairing
Works shows total debit of ¥4,57,700 and
total credit of ¥2,53,430. After scrutiny the
following facts are disclosed:
Items Correct Figures shown
figure | in Trial Balance
Q) €3]
Provision for bad debts 560 650 (Debit side)
Closing stock
I(not yet adjusted) 2,560 | 2560 (Debit side)
Premises 17,600 | 16,700 (Debit side)
Bank Overdraft 3,200 | 3,200 (Debit side)
Repairs 97,800 | 97,800 (Debit side)
Interest on Bank Overdraft 250 350 (Credit side)
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Compute the correct total of the Trial
Balance.

Explain the terms 'Conservatism' and
'Disclosure' Conventions.

‘THE S @R RIS FAET A 96
|

P, Q, R & S are partners sharing profits and
losses in the ratio of 3 : 2 : 3 : 2 and their
respective capitals as on 31st December,
2015, were 60,000, 90,000, ¥1,20,000
and ¥90,000.

It was subsequently discovered that interest
on capital @ 10% was omitted to be allowed.

Rectify the omission by passing journal
entries.

GRE o 13)

Discuss the steps to be taken to ascertain
the claim for loss of stock by fire.

wfAeies @8 otrr Wk R smien ok
) (G T BT A

From the following books of Y Ltd. you
found that on 1.1.2015, the Debtors Ledger
balance was T40,000. The following

particulars were available for the year ended
31.12.2015:
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Sale ¥3,18,700, Cash received from Debtors c)
Z2,76,000, Discount allowed ¥11,600, Bills
receivable received ¥20,300, Return inward
Z1,600, Bad debts ¥5,000, Bills Receivable
dishonoured From the above particulars, you
are required to prepare Debtors Ledger
Control Account as would appear in the
General Ledger of Y Ltd. for the year ended
31.12.2015. d)
GG o 73)
3. Answer any five questions: 10x5=50
R-@It “fpfe gosw Tew e ¢
‘a) i) Describe capital maintenance concept.
YA Fw Qe A 79
~ii) Clarify the concepts of revenue and
expenses. 4+(3+3)=10
R e JEA YRR B 9
b) i) How accounting of non-trading concern
differ from that of trading concern?
S-S AR R W
AR ARt AR iR 14y e

ii) How is sale on approval advantageous

to consumers? 6+4=10
ToArSIEMa IE AU [Kew A T3 For
ARG 2
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i) How normal loss is treated in

consignment business?

oI = =70

ii) Why is Del-Credere Commission given?
: 6+4
T @l @4 el W2

If the goods are sent on 'Sale or Approval'
basis, when the sale takes place? Under this

system when revenue is recognised?

ey w2@l Ray seve siafore o34 Rew a1
TR W2 G2 IS WP W TS WO
el F e :
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The following items appear in the Trial
Balance of M/s Somani on March 31, 2015:

Prepare Trading Account Profit and Loss
Account for the year ended 31st March, 2015
and a Balance ‘Sheet as on that date.

GR& @9 737)

Particulars Dr(3) | Crn(3)
Salaries 4,700 -
Bad Debts 3,500
Stock 5,000
Furniture 20,000
Capital & Drawings 9.500 | 40,100
Wages 1800 —
Purchase & Sale 28,000 | 38,700
Debtors & Creditors 9,000 | 5,000
10% Loan from SBI
(taken on 1.4.14) -1 3,000
Cash 3,200

| Interest on Loan 100
Commission 1,300
Annual Fire Insurance
Premium (paid on 1.7.14) 900
Provisions for doubtful
debts 200

87,000 | 87,000

Additional information:

i)  Value of closing stock #10,000
il)  Outstanding wages F100

iii) Depreciate Furniture by 10%

iv) Create provission for Doubtful Debts

@ 5%
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f) What are the limitations of Single Entry
system? Differentiate between 'Statement of
Affairs' and ‘Balance Sheet'.
GFoT! IR sFfen Fumoral @l | e
P RN qR TFe ¢itgg Wi Ay o
sl '
g) A, B and C are partners sharing profits and
losses in the ratio of 5 : 3 : 2 respectively.
The Balance Sheet of their firm as on
31.12.2014 was as follows:
Liabilities €9 (T)||Assets €d) €3
Capital Accounts: Land & Building] 80,000
A - 50,000 Furniture 2,000
B - 30,000 Stock 3,000
C- 20,000 | 1,00,000}|Debtors 25,000
Less:
Provision 2,000] 23,000
General Reserve 20,000 || Bank | 12,000
1,20,000 1,20,000
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B retires on that date subject to the
following conditions:

i)  Furniture to be depreciated by 10% and
Land & Building to be appreciated by
10%.

ii) Provission for doubtful debts to be
increased to ¥3,000

iii) The Goodwill of the firm is to be
valued at ¥20,000

iv) Out of the amount due to B 10,000
will be paid in cash and the balance to
be transferred to a separate loan
account of B. A and C agreed to
continue the business and share the
profits & losses in the ratio of 3 : 2.
Show Partners Capital Accounts and
Balance Sheet of the firm of A and C.

GRE 2 7BI)

What problems arise when a partner dies?
As an accountant how will you deal with
them? Why do the partners take Joint Life
Policy? What are the methods adopted for
accounting Joint Life Policy? Explain one of
them. (2+2+2+2+2)

[9] [Turn over]

53/Comm.

http://www.wbstudy.com

@I GFE SAMIED g 2@ 90 TR J
YA FOPE TIIN TW? 9FGw Accountant
TER ot a2 Joint Life Policy (e
A SAmEAl ¥ R 2 e Joint Life Policy-
@3 RATwerR Aafvel § Fir @@ 3
fafs It Al |
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